[ Efficiency vs vertpos |

0.4
o

20.09
2
20.08
(&)
50.07
O
£0.06
0.05
0.04
0.03
0.02
0.0

...........................

...........................

...........................

................

1.0

Ratio

-

-

107 1

10 0
TP vertr (cr%)

2

Efficiend

—=— DQM_TT__originalREDO100
—— DQM_TT__originalREDO100f

~ 0.8

o
]

©
o2}

o
&)

efficiency vs ver
©c o o
N w b

©
i

Ratio
r
)

0.95!

[ Efficiency vs. sim PV z |

10 20
TP vert z (cm)

N 0.7
>
8.0.09
£
0.08
20.07
oy
£0.06
R
(&)
£0.05
(]
0.04
0.03

R R AR R

R

.......................

R

...................................

.................................................

-

0.02 [0 VS I ......
O e[
oF.l e Lol s

9 1.WJ 3 N . 5 i 4 +
s il
o ] : : : ]
e R e o AR SR
e

4

6 8
Sim. PV z (cm)

30

10




	Contents
	Page 1


